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02 QIZEXI 2 AN EX(0IMTHSH) 521,217 375,000 146,217
Ol S Y &= 521,217
& 347,478
= 173,739
OIE0E HER Y HAE X4 XNIAL(Fe &0 30,000 0 30,000
ofl &)
& 30,000
402 QI2HXH 201 & 30,000 0 30,000
& 30,000
02 DIZHXIEAIEEXZ(0IETHE ) 30,000 0 30,000
OS2Il W0l MEH =4 U N B4 30,000
T 30,000
HESH A (o z=4at0) 87,360 90,020 N 2,660
Jl2& bl 87,360 90,020 N 2,660
Il B (=D EE) 36,360 39,020 N 2,660
201 LEt2 Y| 17,760 17,520 240
01 AFR2t2ldl 17,760 17,520 240
O&N2Yg LBtx=SH| 1,000,000& x12& 12,000
OANESE S &I 8,000& 24X 304! 5,760
202 01 Hl 14,400 17,300 A 2,900
01 20l bl 2,400 17,300 A 14,900
O&aM2g ol 20,000& 24 x5 2,400
02 EAHNYI 12,000 0 12,000
O& ¥ I 200,000& x5H x12& 12,000
203 ¥R =&H| 4,200 4,200 0
04 ENSI IR FEY| 4,200 4,200 0
ORANSIELERF=AY| 350,000& x12& 4,200
JI2HH(HYXNZE) 17,400 15,000 2,400
202 01 H 17,400 15,000 2,400
01 2LHOHI 3,000 15,000 A 12,000
O2UHH (HEXNEE) 20,0003 *1H x150 3,000
02 AN Y 14,400 0 14,400
OgHAHHI(HEXNECEH) 200,000 »3H = 12& 7,200




SN YLD
FM: HY2AZH (Y40
& 123l (&)
SA - BB B () - MM - BES Ol &t o San HmEET
OEUHHI (KX ETH) 200,000 x3H «12& 7,200
22 (FAMAE) 7,200 9,000 A 1,800
202 o4dl 7,200 9,000 A 1,800
02 M 7,200 0 7,200
OEHo 200,000 x3H 128 7,200
2yl (derzelg) 12,000 9,000 3,000
202 odl 12,000 9,000 3,000
01 = LH o4 1l 12,000 9,000 3,000
O=UWotl 20,0003 *»4H 150 12,000
Jl2Zdtl (e E2dE) 7,200 9,000 A 1,800
202 o4l 7,200 9,000 A 1,800
02 M0 7,200 0 7,200
O HNH| 200,000 x3H 128 7,200
Jl2dul (a2 E) 7,200 9,000 A 1,800
202 O4dl 7,200 9,000 A1,800
02 M0 7,200 0 7,200
O HHI 200,000 x3H «12& 7,200
WNFES (ol L4t 822,811 2,340 820,471
E8XE 822,811 2,340 820,471
2. SHEX3EHE 822,811 2,340 820,471
802 BHEt= DI EF 822,811 2,340 820,471
01 2NE2x3eeE=s 586,791 840 585,951
0O2018F JtSelAld S USHAY 8,197
02016 =&MSAXI NS AEXZ A 347,650
02017~20184 HEUICH & &d HL2H 100,000
020173 =&HAIE AIEIHE ALY 3,448
020198 O=H ZIYHE HIZ ALY 10,000
02018 M XA 28,000
020198 LA HE FHEtAtY 28,000
02018F =4&= HM2AMEFAIEZASE 1,774
02018E A QA LI EXIALY 15,000
020198 SUSSEHUTHUASSAIS 22
02016~2018E KtE2clHY SHAY 1,000
O2019¢ MEHEUHT BES ALY 100
020198 HIAEIZSE Z&EJ E2AY 40,000
020198 HIZMHHA ZH ALY 3,000
020198 HHEMENS MREE HE XNE ALY 600
02 Al - EHIEXZSEHEZ 236,020 1,500 234,520
02018 L THAHH S & HI X &AL 11,179




M YA ND
H: HRES(oHY=4t0)
ol BEXE
SA - ZE-B(EN) - NRAY - B S il &t o il
02018E =42 Ml MEF AL ALY 690
020198 ME2HLEUHTF ESAY 20
02019 H2oH0H&d ZHALS 400
02017~2018" H&EHICH &&8 L2 HALLY 20,000
020198 O=2R HIYHE HIZAY 3,500
02018 HXZ&H At 5,500
02016 &S AT NS AE X ALS 104,286
020198 A E F3ALY 4,800
020198 HEMEFAE ZXAY 5,500
020198 ISHNASSHIU EX XA 2,366
020198 LARIIHIIS AOLE 2lAIOI2E Al
A8 XA 12,572
020198 =M SSEHHYHASS MY 7
020188 & AT XA 5,000
Q220178 & A=E XA AIAISA(MEXA
2O ALY) 30,000
02018 3t&E s =& (s 2&w &I A (
HE X2 AL ) 5,000
02018E A=22cHHIX ZEE AXAL(HE
KA AS) 10,000
020198 X EHoHH 2] A 4,000
02016~2018E K222l Y SHAY 600
02019 HOHH & X HAEZS =AY 4,000
020198 HAEIZE ZEJ E3AtY 2,900
02019¢ HtG= e Meldl AFEXIEAIE & XA
o 3,500
020198 HEMENES AMEE HWE XNEAZ 200




